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1. Aoxnon 3.12 and Tic ONUEWOOELS.

2. Eow (X,)i<k<n oveldptnrec xou wodvouee tuyolee petafBintéc ye E|X | < oo, ©étoupe
G:=0(Xi+Xo+ -+ X,). Nadeyydel 6t
(0) E(X;|G) =E(X1|G) yiaxddei=1,2,....n

(®)
X+ Xo 4+ X,

n

E(X:[9) =

3. 'Eotww X Tuyala yetafSAntd e xatovour tnyv exdetinr pe mopdueteo 1. ot > 0 Yétouue
Y =XAt, Z=XVt Nafpeiolv o E(X|Y),E(X|Z2).

4. Eotww (X,,)n>1 oxolovdia avedptntwy tuyoiov etoAntdy, xadeuio ue xotovour| exdetixnn
ue mopdueteo 1. o xde n > 1, Yétoupe

M,, := max Xl,Xl+X2,X1+X2+X3,...,Xl+”.+Xn :
2 3 n
No detydel ot
1 1 1 1
EM,)=5+5+t5+ "+



